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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 40,142 86,006 41,002 45,004
RIRET1T 6 15 9 6
RIRET2T 28 57 28 29
AIEET3T 183 586 283 303
RIRET4T 406 971 483 488
B 623 1,629 803 826
REH 2,717 6,067 2,816 3,251
L&A 4,313 9,385 4,366 5,019
5E 2,635 5,855 2,835 3,020
B AN 1,303 2,830 1,329 1,501
BERT 1,380 1,945 954 991
BER2T 783 1,377 670 707
BERST 672 1,588 765 823
B 2,835 4910 2,389 2,521
BEXRE 278 646 312 334
= 2,199 4916 2,342 2,574
hERE 644 1,427 659 768
e 2,479 5,067 2,441 2,626
25 L ET 2,338 5,066 2424 2,642
B &AL BT 76 152 63 89
HEFILET1T 559 1,201 561 640
HEFILET2T 615 1,283 606 677
HEZFILAT3T 657 1,498 738 760
g 1,907 4,134 1,968 2,166
B & it B Fr ET 685 1,546 743 803
BHEREBET1T 581 1,162 563 599
BHERERET2T 761 1,725 832 893
BHERERETST 789 1,596 724 872
BHERERET4T 513 938 443 495
HEKERETST 835 1,683 804 879
HEERET6T 875 1,885 914 971
BHERERET7T 892 1,869 931 938
HERERETST 70 206 102 104
£t| 5316 11,064 5,313 5,751
HEF R FET 2,005 4,122 2,004 2,118
S|EFET1T 631 1,571 782 789
S|EFET2T 71 1,746 817 929
S|EFET3 T 739 1,382 634 748
g 2,141 4,699 2,233 2,466
ERE1T 584 1,314 632 682
EIRET2T 388 1,033 513 520
EREIST 521 1,334 654 680
EIRETAT 690 1,452 643 809
EIZEIST 523 1,100 554 546
g 2,706 6,233 2,996 3,237
ME A 2,910 6,213 2,938 3,275
J\THET1T 34 35 13 22
J\THET2T 24 55 28 27
J\THEI3T 50 107 50 57
B 108 197 91 106
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